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SECTION-I -
or the following questigy,

Q1 to Q.3 : Read the passage carefully and 2% d s.
C o e n in search of water. There \,

sarde ; as 5
A WS very thirsty. It flew - cbbles into the pot. The watep i
Pot having a litle water in it. So the crow PUtP e
Up. The crow drank it and flew away-
L. Who was very thirsty?
(1} cow (2) crow
(3) parrot 4) fox
nce.
2. Select the correct option and complete the sente
The crow flew 10 a ........... in search of water
(1) Garden (2) Well
(3) House (4) School
3. What did the crow put into the pot?
(1) Leaves (2) Sticks
(3) Pebbles (4) Money
4. If dogs: bark
then bears:
(1) Snore (2) Squawk
(3) Squeal (4) Screech
]
SPACE FOR ROUGH WORK
0802 / Kannada Set-A 20f32 PTO.

5. Select the correct option and solve the puzzle.
Ll
M kLo (2) m, g, b
3) L s,j 4) e h, s
6.

Select the correct alternative and fill in the box.
(1) East west
(2) South

(3) South east

(4) South west

7. Select the correct option and complete the sentence.
I will give it back to you ..........

(1) Yesterday (2) Last week

(3) Tomorrow (4) Long long ago

SPACE FOR ROUGH WORK

0802 / Kannada Set-A 3of32
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8.

Choose the correct request from the
My friend forgot his pen.
He said, "

e me his nen.
(1) Please give me your pen. (2) He m.:a. pen
(3) I brought your pen (4) Can I give my pen to yo 9

Select the correct option,

We should cover our mouth when
we

(1) Share @ Climp

(2) Crawl (3) Sneeze

10. Look at the given picture and choose the correct conversation.

(1) A : Give me tomatoes.

B : Where's you bag?

(2) A : Do you like roasted com cobs?

B : Oh! I love them.

(3) A : Hello uncle can you deliver the box today?

B : Sure.

(4) A : Have you tried these cakes?

B : This is a new cake shop.

PA R H R

0802 / Kannada Set-A 40f32
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11. Select the correct option,
Keep your hands on your

Ttrersaanaas

(1) waste (2) west
(3) wait (4) waist
12. Find the odd pair.
(1) August September (2) October November
(3) April May (4) June August

13. Find out the odd term
(1) Thigh (2) Deer
(3) Thieves (4 Oxen

14. Select the correct option and complete the sentence.

Isha............. eat fruits.
(1) doesnt (2) doesn't
(3) does'nt (4) doesnt'

15. Select the correct option and complete the sentence.

We go by ................... Auto-rickshaw
(1 A (2) The
(3) An (4) No article

16. Find the odd group
(1) king, ring, thing, sing (2) tall, fall, ball, call

(3) keep, peep, sheep, jeep (4) get, wet, not, let

SPACE FOR ROUGH WORK
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i sentence.
: ¢ for the given
17. Select the comrect punctuation mark for

Does she go to school

(1 @ Comm®

Full stop

italization
(3) Question mark @) Capitalizss

.
18, "Illﬂnurm Sale
“ Sari and Kurti
§ Offer- Buy 1 Get 3
-

Rs. 1000/- only

B e O
The special offer is ............
(1) Buy one get one

(2) Buy one get two
(3) Buy one get three
(4) Buy one get four

19

Choose the correct sentence showing proper position of a comma.
(1) Master Master have, pity, on me.
(2) Master Master have, pity on, me.
(3) Master, Master, have pity on me.
(4) Master Master have pity, on me.

20. Solve the riddle.

I use scissors. I use a needle
and thread. I make clothes
from cloth. Who am I ?

(1) Tailor (2) Potter

(3) Cobbler (4) Jeweller

SPACE FOR ROUG R

0802 / Kannada Set-A

=

21. Find out the correct word to complete the given diagram.
_

| (1) Run

(2) Write
| (3) Eat
“ (4) Sleep

22. Where should be the exclamation mark in the given sentence?
Select the correct option.

Good morning Kondiba
(1) after morning (2) after good

(3) before Kondiba (4) after Kondiba

23. Choose the correct option.

ﬁ Many Many Happy Returns Of The Day ! f
. ._.EmEnmmnmﬂmmuon.

(1) Wedding

rerssssannas P

(2) New year
(3) Birthday (4) Journey
24, Select the correct alternative
As yellow as ...........
(1) Dawn () Rain
(3) Turmeric (4) Honey

25. Find the odd group.

(1) cement, city, circus, centre

(2) group, good, gate, ground
(3) brown, bucket, black, brinjal

(4) Kite, kangarco, know, King

SPACE FOR ROUGH WORK

60f32

P.T.0.
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|ABCDE | FGHIJ % mmocm | FGHIU T KLMNO | PQRST | UVWXY |

g TEST |  SECTION-TI ~

—zamrr_omzn

i Letter is third © the left of the middie pogiy ,_ INTELLIGENCE TEST

26. In the word *‘ADJECTIVE’ whic |
! 26. ‘ao3m LEWER BERE 6 BuE LRl o woe aandaien Satdch §ERcIBG O il cRRl

letter ? |

D @ : 1) sa ) o
|

Gv< ® ) 4

M N O TORST UVWXY

hat is the voﬂno: of the letter from start Srmn_ is GH
at 1 BCDE

27./[ABCDE FGHIJ

& D07 uig SRty uundsnes TIAch el adndehd ch mydch vy gom, Tucncd wriamn

“.ch”” wcw__ﬂ.”"_”uh“,w_,wmﬂwﬂnwﬂ, which is tenth from the right side of the Serigg, _ oRAD BRI, !
2 @ 12 | D19 212
(3) 20 ) 6 3 20 5
28. How many total vowels are there in the given sentence ? 28. ‘zmlany, mASTEY, JIRedn, Y, 13T’ & TRV Ly, %, LIFURe T
‘Rupa gave letter to Ram.’ : 15 % 3
(1 s (2) 3 3) 8 49
3) 8 @ 9 29.(3,2, 7 1. 0, 5 6 6 4 3 6 ), 7, 283000

e Romm, ERLIHY, Sdiidener e voich Jre wia uwondased
mg 0% 4 _
1) 34

29.[3.2.7, 1,0, 5,6, 6 4. 3,6 1. 7.3 32
es, what is the difference between the square of th

d which is 7th from right side ?

In the given number seri
number which is 6th from left an

(1) 34 @ 0
3) 8 4) 16

3) 8

SPACE FOR ROUGH WORK
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|[ABCDE | FGHIJ -Ea

out]
Note for : Q. 30 to Q. 34 : [Find Plai™

(2) Television
30. (1) Puppet show

4) Cinema
(3) Computer @)

|
31. (1) May B i
(3) June @) Dnmswp.
32. (1) 2651 2y 2240
(3) 5324 () 6213
33. (1) 9338 @ 7276
(3) 9295 4 4279
34. © S w.m w‘m‘
) @) 3 4

35. In the given number series, select the correct option to
mark.

3, 4,7, 10, 15, 22, 31, ?

replace the questiop

[ ABCDE | FGHIJ [ KimNO [ PQRST | UVWXY |

Baud: T 30003 344, : reoant omens zass

, MeCiias.

30. (1) faslzm

(3) =eriee @) ra=m
L) = (2) =ac,
(3) waw 4) Sl
32.(1) 2651 (2) 2246
(3) 5324 (4) 6215
33.(1) 9338 @) 1276
(3) 9295 @) 4279

34. S Tl

n (2) 3)

35. 89nY Worm, SROdung IImFeY Wdch MR ofw

1

oz, wcheym?
3,4, 7,10, 15, 22, 3,7

(1) 46 2) 40
(1) 46 (2) 40
(3) 44 @) 42
3) 44 4) 42
SPACE R R SPACE FOR ROUGH WORK
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[ABCDE] FGHIJ Ea g ABCDE | F

orrect option to replace the Quesgj,
n

@

H1J

KLMNO [ PQRST | UVWXY |

. : . select the €
36. In the given scrics of figures, select 36. 89N 8,3 bz 3

mark. HetmeshOoT wol, Snao. § IS o Boges udan LSO CIRT UE LT aotahd
. q.v
’ 3 2 ?
y
. . | |
4) . | . . .
(1 ) A3) (
) @) @) 4)

37. Select the wrong term in the given number series.

2 2 2
» 7, 28, 64, 126, 215 37. 403 RomEROInS, Imnei wzey o,

(1) 28 (2) 64 2, 7, 28, 64, 126, 215
3) 215 @ 7 (1) 28 2 64
(3) 215 @ 7

38. Select the correct option to replace the question mark in the given number

38. 8vns nu....uuu gﬁmo&p TmEee ﬂﬂ; oS RYaO odnd unn&n w2t roidy, Zeinrehtod eol, SRAD
series.

14, 16, 19, 24, 31, 42, 55 ? 3 SRl

(1) 65 : Q) 712
(1) 65 2) 72
. 3 75 4) 70
3) 75 @ 70
SPACE FOR ROUGH WOR SPACE FOR ROUGH WORK
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%Eﬁn

BCDE
A EGHIJ TRKLWNG [ FQRST TUvVWwXY |

|ABCDE | FGHIJ -Eua

; k in the given py
39. Select the correct option to replace the guebticl mat S of 30. ¢t 824, WLV Smedese =
* correc B 2 WY SRldehy mmey . .

efin p S U nvns ama o, LGN Lewndid, WeincohDed el TROO.
E s. 9

= .

< >y R €27 < > 4+ X o+, > +
+ X + X + <, * B e e 9

SEEX 4 >+ X+
+ <> (1) <>+ x +
(D <>+ x4+ @ X 2) + x + < >
3) + X = > 4
ﬁmVJrX.nV.r TC+AV+X ¢ (4) + < > + x
s karoo is L undR AU S0, Save metao —
alled as Shekaroo, She 1 calleq 4 40 u..nu_(a sl s e TR U8 Seh, weent Acwitnh, oA, 4 Semh HAE, TROIE Caiy ok

40. If Deer i abbi bit is ¢
eer is called as Rabbit, Rab Figet s called as Bear then Whicy

Porcupise, Porcupise is called as Tiger
animal is the state animal ?
(2) Tiger (3) &av (4) wuw

4y =e @) 2oz

(1) Shekaroo
o MeT Thaes e rted P i P T =
4]. =oc, 3o0, DA WY R TTery Lans Shad dowm T3 Surns, mmod oo SRRV 2038 ¢ Sane

(4) Porcupise

(3) Rabbit
Soh et o=y Senwmmhgg?
41. The sum of ages of Mother, Father and Son three years ago was 73. What wjj) (1 97 @) 15
e . ?
be the sum of their ages five years later (3) 78 @ 88

(n 97 2 75
42, wibmmyen vohe noB 2y ead Zrinsned 80w rennt: Caddd, deozern wobrags eod 2mY ne3 Ty,
3) 78 (4) 88 rorenvs cadds. mmd aysssuas Ty mone cwot dadad? B
A (1) wobr (2) 2o
42. Anushka's score of marks is more than Aarya but less than Aaboli. Shevanti's
score is same as Aarya but to more than Chameli. Who has scored the highest ©):Beic (5 oo
marks ?
(1) Aarya (2) Aaboli
(3) Shevanti (4) Anushka ._
| . OUGH WOR
802/ Kannada Set-A 14 0f 32 P.T.0. 0802 / Kannada Set-A 15 0f 32
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[ABCDE ]| FGHIJ %
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" 's father.” What i sl 208 Lot woma, e
her's father is MY father's T S the i Mmowvusu ) R T T —— FRERTon s
43. Akshay said to Aarti ‘your mothe 9 -
relation of Akshay with Aarti’s mother * (1) %= () uz
%
(1) Son of husband's brother (3) ¢% (4) 2aizoe,
(2) Uncle .
inm eE,Bshg WLy ax ddaeine
(3) Grandson SRR S A
(4) Son of husband's sister
in the adjacent figure ?
44. How many total number of triangles are Lheceial | ’
(n 14 @ 15
3) 10
(1 14 . 2 15 12 4 12
(3) 10 @ 12 45. 49N3 L8300 1y O Whasrem
45. In the figure given below how many total number of quadrilaterals are there 9
(1) 9 @6 m,_.‘.,__ ki _
(3) 18 4) 15 . . S E
PA ous % mghm
c“\m - : A - . : 8 £
..E_E‘% Set-A 16 of 32 PT.O. - 0802 / Kannada Set-A 170132



Kimno] PaRST LUVWXH

ot option 10 match the mirror m_zmwn

[ABCDE | FGHIJ

Note for Q. 46 and Q. 47 : Sclect the cOTe
of the question figure.

.*&O 5% .rﬂ,uw.: .
255 g srees wok, Smas, T EG Baner gy

DE
\>mo _F AT
= 478, aﬁ::ﬂu_lqoi g —UD”M.—. — C<Ex<|_

46,3752

46. Question Figure Answer Figure _ @N 4 ;
[SR1f[52] (45 ] gs] [Re] (2] E ﬁ LAREER

(1) 47. 3%
47. Question Figure Answer ﬂ_mznn hv Bp
(oY (ol NGB NI
e[ [z %
(1)
n: g2 58, 48 23, Wmp - seng TmE ek an
zautd SR RIS AMOHE . B ey S, R SR G SRR
Note for Q. 48 and Q. 49 : Select the correct option t0 a&% the water imgge A X R -rss, A
of the question figure. RS
48. Question Figure Answer Figure a b 4 | A 4
a b \4 w >>> q | P paca b X p £ S p
W XM WX W .
AN b b\ LN T 1) e _
) (3) (4)
3
” (1) @ @ o 9370
49. Question Figure Answer Figure O
‘ @ Y &G &
> K . (1)
2 3 4
(2) (3 ) - "
PACE FOR R OR SPACE FOR ROUGH WORK
0802 / Kannada Set-A 18 of 32

P.T.O. 0802 / Kannada Set-A 19 0f 32 P

I
|
|
I
|
|
{

Scanned with CamScanner



%-EEHH

ween first and secong po

[ABCDE | FGHIJ

bet 4547 \u.wr S, HLL.,. = :uo ,.“,Ju ek 3%, Soaten Bees o o
a relation 1y select t | P = B8 S molor muay STWG, inT tousgidlne vt Towem
Note for Q. 50 to Q. 54 : There ox_”“m_.czn: term. Accordingly N no_...anp | ey R CLORER L me HeREekTm,
similar relation holds true for third 21 _, . gav 1 ICED:I?
option to replace the question mark. | 50. 9%
. | 2
, M () Smc
50. Crops : farm : : fruits : ? ) Market w 5 u "
2 L 1 (Y0 (4) ws
(1) Orchard W TRNT
o _
(3) Mall ) i | T n DR 1 7
| sl
51. : :: went : ? w I
Sparrow : noun v - Garh . m (@) 3
|
(1) Pronoun . T
3) N ey >&no:<n | (3) = il
oun .

() @ 3) @) | (D (2) 3) )
| g3.5:12 %67
53. 5312 446 577 . ) 18 @ 15
(1) 18 @ 1
(3) 12 @) 21 S Bl
: prc il
54. 4396 : 6475 : : 3485 : ? 54. 4396 6475 o ;
(1) 4595 2) 4574 (1) 4595 2) 4574
(3) 5564 (4) 4564
SPACE FOR ROUGH WORK |.4 SPACE FOR ROUGH WORK
,
02/ Kannada Set-A 20 0f 32 PTO. | 0802 / Kannada Set-A 21 of 32

Scanned with CamScanner



I%E

. .o correct, when he saw o
55. Which of the following action of Raju 18 garby

o pHEg, W, TE e

Ko

RS S © L D ” S T
a G & A RN
at the pl- 5 all child gune BIWECENEOD w2, omay, - DO e | UVWXY .»
¢ ¢ place where sm . 510 the dustbin M am gy
: threw it 10 . -y T ERRS an g tetn ctatiming oe
(1) He picked up the garbage and (1) IRV, O BT Buyeye Boen ¥ T e,

w
i
|
; 8e . 3
ren were playing 7 _Ssm w $5-C s @
|
1

(2) He neglected it. i 2) HerAER
h ace. i
(3) He pushed out all the children from that P _

. ick up the " i .
(4) He purposely tell the security person f© pick Up garbage, 4

A.&v &G]..(.uﬂ L]

LIRTLN wona,

() 59 BT 29T hanzy,

-~
= Eeom

Note for Q. 56 and Q. 57 : Select the figure perfectly matching to the Quegy, | et % 50 °°F 375 90 g an FORAET Wnertens
figure from the given options. G| 56. R SR S tame o sk, SReD.
56. Question Figure Answer Figure MMI W
DD | b
M@ G @)
(1) 2) 3 4
57. M,G..w,w.c,w
mq.‘ Question Figure Answer Figure vA‘N\‘
N K /I K%%
X W Wm m% DY ey (@)
(1) (2) 3 (4)

58 gainol a?
- In a row there are 15 girls to the right side of Savita and 11

il . girls to her left
If she is standing at the middle then what is her position nu 3

58, womh mOFQ, X2:W word 15 Matnon, R

aund 11 e SHTSY ﬂgc_..u. uds mon uuavﬁﬂnﬂﬁv o

12 Seby
mber ? ® @ 134
(1) 12th (2) 13th (3)-14 b (4) 15 2p
(3) 14th @) 15th
SPACE FOR ROUGH WOR| ._
ACE FOR R WORK § CE FO OR
!
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(3) Wednesday

. s and studentsg ;

59. Students are standing for mass P.T. The number of 35”5: . m.”:”:.: one
row is same. If 15 students are standing in each row ¥ IR logy)
number of students standing for mass P.T.?

(1) 225 (2) 150
(3 250 4) 125

60. John is standing with his back towards the East. He ::.:mano his right hang twg
times at right angle. Which direction is he facing now -
(1) West

(3) East

2) South
) North

61. Ahmed went 18 km in the west direction, then he went 11.5 km to the south,

then he went 6.5 km to the east, then he went 11.5 km to the north ang he
. " int ?

stopped there. At what distance is he from the starting pomnt =

(1) 11 km
(3) 12.5 km

(2) 10.5 km
(4) 11.5 km

62. Mandar was born on 7th July 2007 Saturday. Which day will it be on his

second birthday ?

(1) Monday (2) Tuesday

(4) Thursday

253 SRBREHN oy TR . - P D RS T

9. 5 g wootd ot I b [ovwxy |
’ H-n.uf\\nz.\ 3 Ty, A Muﬂ..r.. ”rn..c.u Tilacn, TRESE —
[Raloh] TEREE Ractaae, ménuy 15 =egn e,
y 225 1
(1
@) 150
250
3
4
g ATEE AR R mma n @) 125
GQ. o = ot a3? . e YR e
sdne W RS AUy e St
T L a.u_zml:lf&mj AT, mwod eEt Seow,
zZnh
) =%
AMV T
Gv ey w
(4) wag
ol paesa Ty g, 18 azezmmm 2200, 2eag
! T Bewg e,
JaelpttdTt WA, 2533 wugg i L I
i euiCt ¥OICTOmEY s Sattog na, S ST Tadm, Hodd zawed, 6.5
PR IR Lo - R mmad Sao o woim e,
1) 11
ﬁ (2) 105
(3) 125
@ us

62, GogRtonT wE, 7 =, 200700 prom e

2 ezz =D lFt.F.Mu Fu dnd odde weEEh?
1 Artshang = =

m ) = (2) ey [erled

) we fpie] 4 o

n. u inT ﬁ v o

e~
N~

orh =EE 15 onx, Anehwd m, gmmo i

63. 20T u %y 3 et T 6 Boun’ oind ondech wEThh?
rhtheed =

) (2) Rrtme

Scanned with CamScanner

63. In a certain year if 15th August falls on Monday, then in the same year 6th

(3) onvmd @ s
September will fall on which day ?
(1) Thursday (2) Monday
(3) Tuesday (4) Wednesday
SPACE QUGH WO SPACE FOR ROUGH WORK
0802 / Kannada Set-A 24 0f32 PTO.  0802/Kannada Set-A 250f32
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VWXV
[ABCDE] FGHIY _ 5.;%

. %glﬂnﬁﬂﬂ

PORST [ UVWXY |

o 68 1 8Ong mRny o Iz,
: /e Same common 8 B owaomnnu rozh uumum.wawmu‘rfc: AW Terrgn, B e
iven in cach question hav LA v T 2t rorg RORaomg g, oV, B G i R
Note for Q. 64 to Q. 68 ; The term given 1n € " ol = SO, donrdiiesy ©ch, TRao.
characteristic Select the correct option to match the group. %.mnca‘ gt 0¥
=% bl
64. Iron, bricks, sand, “ L @) nges
\ Hs08 :
(1) Cotton (2) Coal e @) 3o,
£ | v, TR Bymch
(3) Thread (4) Cemen 65-=
(1) =¥ (2) an
65. Brain, Lungs, Heart (3) 39 @ & !
(1) Skin (2) Ears . e
(3) Stomach (4) Eyes N 66. ’ .' !
66. “Ngl2”
S DB D
PPDHD T
100 I ) 3 )]
67. 63, 83, 92 5
67. 65, 83, 92 SR : (1) 54
) 54 (2} 872 () 47 @) 39
£8.2520, 6273, 7092 :
68. 2520, 6273, 7092 ; :
. (1) 8085
(1) 8085 (2) 2823 (3) 6018 4) 8127 el
0802 / Kannada Set-A 26 0f32

PTO.
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[ABCDE [ FGHIJ [ KLMNO PQRST | UVWXWV)

er the following questions,

RST [ UVWXY |

69. Observe the venn diagram carefully and answ

-
n
¢
u
]
&t
3}
-3

i iangle ?
Which of the following number is seen only in the Fang

3
4) 4
(ny 7 ) 6 (3) 5 “@ 07 -
. @) s e
70. Identify the correct option to replace the question mark in the given pattery, ik A ot . _.
B ...,..... =Ran,
(L) @ 32 @) 12 @) 22 | A
_ (1) 42 ) 32
e @) 12 w2
71. In a certain code language if 62 = 14, 47 = 15, 95 = 23 then 38 = ? | s e 50 62 = 14, 47 < 15, g5 - o
(nH 11 (2) 14 (3) 36 ) 8 0 1l o o e
och mofedd HeRd 6 = 14, 7 = |7 AL A
72. In a certain code language if 6 = 14, 7 = 17 and 3 =5 then 4 = ? ﬁ.w 3 = Snga s = s
(1 4 @) 6 4 ® 6
S OR
3 2 @) 8
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[ABCDE [ FGHIy | x..zﬁE |

00®, CAT = 0O, PAN = Agq

73. In a certain code language if CAP =
then TAN =9

() oaoe (2 o@o
3 eoam 4 A00
- o medtd® TG g
. = A X, NKD = v AN h.?uﬂ(ﬂ o - < >y, ‘fitmn )
74. In a certain code language if KMD = < > v, KNM [ AR5 R g e it it
yam, 2ot
then MND = 2
; : s -> BHONE DL e
; ¢ same order.] #aud -> 8 % BRI S e
[Note : The signs and alphabets may not be in th [ * (z:(r(fv.m._
1 AV >
() Avs @ A<> ( @ acs
uu_ AV <
G) Av< @ ><v ( @ ><y
i ion is near all hay gob ToarY ITARL Foino v ... _
75. Teacher appeals to all students that as the yearly inspection e : € to 75, R ;..} Ha2. s za Enﬁuurﬁﬁ‘ TRTAAEN0 Goch 2Y 4% L perert Beends
: . o < 18 com 5 FToEDlhs TARTLD Snrge . . SN Lo deET L Feecas,
complete their assignment note books. Your assignment note book 1s pleted, a, U 2 & Ly mameg Y g
has not completed hj mmod ) O ZRaas? g SRESSLERa vTanrln, Soms Aot aend
but you know that, one slow learner student of class S ==
assignment note book, what will you do ? (1) #5 uof 683 Adaan Tt O Rt 158 85t s g
: : g < to = ug eI ket ma
(1) I will tell my bench partner to give his assignment note book to that slow (2) =™ ¥IE NEWIIeY zane RO, xume smaa
learner. (3) AR, My=TTLk, m cimons fazma.
3 . : : t note book. W

(2) I will help him to complete his assignmen (@) © omprets Tuana, $oetaonz toc S

(3) I will not give my assignment note book to any one.

(4) I will tell the teacher that he misplaces the note books.
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